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Exercicio 9

1. Prove os seguintes sequentes usando deduc¢3o natural:
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I L

b) { VP(x)—=—Q(x) } F =3x. P(x) A Q(x)

—Jdz.P(x) A Q(x)
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I L

b) { VP(x)——Q(x) } F =3x. P(x) A Q(x)

—Jz.P(z) A Q(x) (Contr)
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b

b) { VP(x)——Q(x) } F =3x. P(x) A Q(x)

Jz.P(z) A Q(x)
P(b) A Q(b)
Q(b)

(Ezxist—F)
(And—E)
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b) { VP(x)——Q(x) } F =3x. P(x) A Q(x)

Va.P(x)——Q(x)
Pe~>-Qe) " " pw
~Q0)
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V. P(x)——Q(x) P(b) A Q)
Pb)——Qp) P p
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b) 1)

b) { VP(x)—=—-Q(x) } F =3x. P(x) A Q(x)

. P( ) A Q( ) (Ezist—E)
Ve P@)-Qw) PO AQE
Pb)=Q() P,
—Q(b)
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b) { VP(x)—=—Q(x) } F =3x. P(x) A Q(x)

Jz.P(z) N Q(z)

Jz.P(x) A Q(z) (Emst—E)Vx'P(x)_}_‘Q(x) (All-F) P) A Q) (Aiii;
POAQW) PO 0ty
b) " ~Q(b) .
Q( (And—T)
L (Contr)

—3Jz.P(z) A Q(x)
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